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1-1.  What is the greatest common divisor of 2016 and 20177 1-1.

1-2.  If the 3-digit number 1A7 (where A is the tens digit) is divisible by 1-2.
3, but not by 9, what are all poussible values of A?

1-3.  When a small square is surrounded by 4 congru- 1-3.
ent rectangles in the manner shown, a larger
square is formed. If the perimeter of each rectan-
gle is 18, what is the area of the larger square?

1-4. The length of one leg of right AT is the average of the lengths of 1-4.
the other two sides. If the perimeter of T is 1, what is T"s area?

1-5.  Atmy grandparents’ dance par-
ty, each guest ate at least 1 al-
mond. If each guest ate a whole
number of almonds, no three
guests ate the same number of
almonds, and the guests ate at
most 2600 almonds all together,
then at most how many guests
were at the dance party?

1-6. In the five-term sequence 60, 20, 30, 40, 50 the least term is 20, the 1-6.
greatest term is 60, and the nth term is divisible by n. What is the
least possible sum of all the terms of an eleven-term sequence of
unequal positive integers whose least term is 12 and whose nth
term is divisible by n?
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